



# CANARA ENGINEERING COLLEGE

SUDHINDRA NAGARA, BENJANAPADAVU, BANTWAL TQ, D.K - 574219



Date:30/09/2025

From,

Central Maintenance team  
Canara Engineering College,  
Benjanapadav.

WO/CHSA/  
Res Eng for Ref  
H

To,

The Hon.Secretary  
Canara High School Association  
Mangalore

Through,

Dean  
Administration  
Canara Engineering College  
Benjanapadav

Respected Sir,

**Subject:** Request for Approval to Carry Out Drainage Line Repair Work

During the recent rainy season, water has been entering the drainage line due to weak chambers. The chambers are located below floor level, and some of the main pipes are made of stone instead of PVC. Because of this, the drainage water near the 4G area and Can Café overflows onto the road, causing inconvenience to the public and creating unhygienic conditions. To prevent these recurring problems and ensure proper drainage flow, it is necessary to repair and correct the existing drainage line. Hence, I kindly request your approval to initiate the repair work. The detailed quotation for the proposed work is attached herewith for your kind consideration. Your approval at the earliest will helps us carry out the work promptly and avoid further damage during the upcoming rains.

Thanking you

Yours's Sincerely

Attachment

1. Quotation

Forwarded for Approval.  
H

30/9/25  
(Gowrish-N)

P  
30/9/25  
(Pravval Teller)  
Resident Engineer

Sadashiva  
30/09/2025  
Sadashiva Acharya  
(Campus Manager)



**STATEMENT**

Ref: Est/CHSA/Benjanapadav/SG/2025-26

Date: 03/10/2025

To:

The Secretary  
Canara High School Association  
Kodialbail  
Mangalore

Site : At Canara Engineering College Campus Benjanapadav  
Sub : Plumbing works Estimates

Sl No	Particulars	Ref No	Amount
1	Plumbing works estimate for Hostel block drainage line. * 2B & 3B Boys Hostel Block side area	Ref :Est/CHSA/Benjanapadav/ SG/2025-26(043)	375157.00
2	Plumbing works estimate for Hostel block drainage line. * 2B & 3B Boys Hostel Front side area	Ref :Est/CHSA/Benjanapadav/ SG/2025-26(044)	74147.00
3	Plumbing works estimate for Hostel block drainage line. * Gym Front Area	Ref :Est/CHSA/Benjanapadav/ SG/2025-26(045)	193788.00
4	Plumbing works estimate for Hostel block drainage line. * Near Security Room Area	Ref :Est/CHSA/Benjanapadav/ SG/2025-26(046)	210459.00
5	Plumbing works estimate for Hostel block drainage line. * Near 4G Ladies Hostel Area	Ref :Est/CHSA/Benjanapadav/ SG/2025-26(047)	699030.00
6	Plumbing works estimate for Hostel block drainage line. * Near Café Area	Ref :Est/CHSA/Benjanapadav/ SG/2025-26(048)	431088.00
7	Plumbing works estimate for Hostel block drainage line. * Near 2G Ladies Hostel	Ref :Est/CHSA/Benjanapadav/ SG/2025-26(049)	87412.00
8	Plumbing works estimate for Hostel block drainage line. * Near 3G Hostel	Ref :Est/CHSA/Benjanapadav/ SG/2025-26(050)	225542.00
9	Plumbing works estimate for Hostel block drainage line. * Pump & treated water Main line diversion works	Ref :Est/CHSA/Benjanapadav/ SG/2025-26(051)	260165.00
<b>Total</b>			<b>2556788.00</b>
<b>(Rupees Twenty Five Lakhs Fifty Six Thousand Seven Hundred Eighty Eight Only)</b>			

Note: GST Charges are Extra.



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION

(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

## ESTIMATE

Ref :Est/CHSA/Benjanapadav/SG/2025-26(043)

Date:03/10/2025

To:

The Secretary  
Canara High School Association  
Kodialbail  
Mangalore

Site: At Canara Engineering College Campus Benjanapadav  
Sub : Plumbing works estimate for Hostel block drainage line.  
\* 2B & 3B Boys Hostel Block side area  
Work Note No:

SI No.	DESCRIPTION	UNIT	QTY	RATE	Amount
1	Supplying and fixing of finolex make 4kg pressure PVC pipe (IS4985) using tee, elbow , bend , coupling and cap (suage line)				
a	2½" 4kg pressure PVC pipe	Rft	103 ✓	122	12566.00
b	4" 4kg pressure PVC pipe	Rft	139 ✓	219	30441.00
2	Supplying and fixing of finolex make 6kg pressure PVC pipe (IS4985) using bend , coupling (Excluding Tee, Elbow, Y, Door elbow, Door Tee, Door Y)				
a	6" 6kg pressure PVC pipe	Rft	220 ✓	381	83820.00
3	Supplying and fixing of pocilin 'P' trap	Nos	7 ✓	886	6202.00
4	Earth excavation and refilling charges are all extra				
a	Hard murra	Cft	1185 ✓	56	66360.00
5	Providing and construction of inspection chamber with 4" thick Factory bricks in 1:6 cement motor on base 6" thick 1:4:8 PCC bend and chamber inside grout finish and outside plastering cement motor 1:4 including earth work excavation , curing etc complete				
a	24"x24"x24"	Nos	11 ✓	4340	47740.00
b	30"x30"x24"	Nos	3 ✓	7330	21990.00
c	30"x30"x30"	Nos	2 ✓	8890	17780.00
d	30"x30"x36"	Nos	2 ✓	10435	20870.00
6	Chamber Rasing				
a	24"x24"x6"	Nos	6 ✓	950	5700.00



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION

(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

7	Supplying and fixing of RCC chamber cover with frame				
a	15"x15"	Nos	11	2080✓	22880.00
b	18"x18"	Nos	6	2301✓	13806.00
c	24"x24"	Nos	6	3167✓	19002.00
8	Supplying and fixing of MS Grating				
a	24"x24" (Approximate)	Nos	1	6000✓	6000.00
<b>Total</b>					<b>375157.00</b>
(Rupees Three Lakhs Seventy Five Thousand One Hundred Fifty Seven Only)					

Note : GST Charges Extra

For SHREE GANESH ELECTRICALS

*[Signature]*  
Proprietor

*Verified*  
*[Signature]*  
8/10/25

Resident Engineer  
CANARA ENGINEERING COLLEGE  
Sudhindra Nagar, Benjanapadavu  
Bantwal Taluk, D.K. - 574 219

Side Area

Above specified plumbing work estimate for the hostel (2B & 3B)  
Block drainage line is as per site discussion and design.  
The unit rates are competitive and as per approved.  
This can be considered for work order

*[Signature]*  
13/10/2020

**SATHISH KUMAR SHETTY**  
Service Consultant  
Ground Floor, "MOTISHAM APARTMENT"  
OLD KENT ROAD  
MANGALORE-575001

W.O may be issued  
3% discount  
*[Signature]*  
24/10/25

IN; 29ALMPS4084P1ZZ

Ph : 2416622 (R)  
Mobile : 94484 84419

E- Mail: shreeganeshelctricals1@gmail.com



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION

(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

## ESTIMATE

Ref :Est/CHSA/Benjanapadav/SG/2025-26(044)

Date:03/10/2025

To:

The Secretary  
Canara High School Association  
Kodialbail  
Mangalore

Site: At Canara Engineering College Campus Benjanapadav ✓

Sub : Plumbing works estimate for Hostel block drainage line.

\* 2B &amp; 3B Boys Hostel Front side area ✓

Work Note No:

SI No.	DESCRIPTION	UNIT	QTY	RATE	Amount
1	Supplying and fixing of finolex make 4kg pressure PVC pipe (IS4985) using tee, elbow , bend , coupling and cap (suage line)				
a	2½" 4kg pressure PVC pipe	Rft	20	122	2440.00
b	4" 4kg pressure PVC pipe	Rft	25	219	5475.00
2	Supplying and fixing of pocilin 'P' trap	Nos	2	886	1772.00
3	Earth excavation and refilling charges are all extra				
a	Hard murra	Cft	67.5	56	3780.00
4	Providing and construction of inspection chamber with 4" thick Factory bricks in 1:6 cement motor on base 6" thick 1:4:8 PCC bend and chamber inside grout finish and outside plastering cement motor 1:4 including earth work excavation , curing etc complete				
a	24"x24"x24"	Nos	3	4340	13020.00
5	Chamber Rasing				
a	24"x24"x6"	Nos	15	950	14250.00
6	Supplying and fixing of RCC chamber cover with frame				
a	15"x15" <i>W.O. may be issued</i>	Nos	5	2080	10400.00
b	18"x18" <i>3% discount</i>	Nos	10	2301	23010.00
<b>Total</b>					<b>74147.00</b>
(Rupees Seventy Four Thousand One Hundred Fourty Seven Only)					

Note : GST Charges Extra

*Unifred*  
*8/10/25*

*8/10/25*

Resident Engineer  
CANARA ENGINEERING COLLEGE  
Kodialbail  
Mangalore  
P.T.O

For SHREE GANESH ELECTRICALS

*Proprietor*  
Proprietor

Above specified Plumbing works estimate for  
the hostel front side drainage line is as per  
site discussion and design. The unit rate is  
competitive and as per approved rate.  
This can be considered for work order

Om  
13/10/25

**SATHISH KUMAR SHETTY**  
Service Consultant  
Ground Floor, "MOTISHAM APARTMENT"  
OLD KENT ROAD  
MANGALORE-575001



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION  
(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

## ESTIMATE

Ref :Est/CHSA/Benjanapadav/SG/2025-26(045)

Date:03/10/2025

To:

The Secretary  
Canara High School Association  
Kodialbail  
Mangalore

Site: At Canara Engineering College Campus Benjanapadav ✓

Sub : Plumbing works estimate for Hostel block drainage line. ✓

\* Gym Front Area ✓

Work Note No:

SI No.	DESCRIPTION	UNIT	QTY	RATE	Amount
1	Supplying and fixing of finolex make 4kg pressure PVC pipe (IS4985) using tee, elbow , bend , coupling and cap (suage line)				
a	2½" 4kg pressure PVC pipe	Rft	10 ✓	122	1220.00
b	4" 4kg pressure PVC pipe	Rft	15 ✓	219	3285.00
2	Supplying and fixing of finolex make 6kg pressure PVC pipe (IS4985) using bend , coupling (Excluding Tee, Elbow, Y, Door elbow, Door Tee, Door Y)				
a	6" 6kg pressure PVC pipe	Rft	176 ✓	381	67056.00
3	Supplying and fixing of pocilin 'P' trap	Nos	1 ✓	886	886.00
4	Earth excavation and refilling charges are all extra				
a	Hard murra	Cft	460.5 ✓	56	25788.00
5	Providing and construction of inspection chamber with 4" thick Factory bricks in 1:6 cement motor on base 6" thick 1:4:8 PCC bend and chamber inside grout finish and outside plastering cement motor 1:4 including earth work excavation , curing etc complete				
a	24"x24"x24"	Nos	4 ✓	4340	17360.00
b	30"x30"x24"	Nos	3 ✓	7330	21990.00
c	30"x30"x30"	Nos	2 ✓	8890	17780.00
6	Supplying and fixing of RCC chamber cover with frame				
a	18"x18"	Nos	2 ✓	2301	4602.00



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION

(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

b	24"x24"	Nos	4 ✓	3167	12668.00
7	Labour charge for fixing of RCC chamber cover with frame				
a	18"x18"	Nos	2 ✓	650	1300.00
b	24"x24"	Nos	1 ✓	750	750.00
8	6" PVC pipe old Chamber end connection	Nos	2 ✓	2536	5072.00
9	Supplying of PVC 6" PVC Tee	Nos	3 ✓	677	2031.00
10	Labour charge for Interlock removing & refixing (Approximate)	Ls	1 ✓	12000	12000.00
				<b>Total</b>	<b>193788.00</b>
(Rupees One Lakh Ninety Three Thousand Seven Hundred Eighty Eight Only)					

Note : GST Charges Extra

*Verified*  
*Stellar*  
*8/10/25*

Resident Engineer  
CANARA ENGINEERING COLLEGE  
Sudhindra Nair  
Bantwal Taluk, Udupi - 574 219

For SHREE GANESH ELECTRICALS

*Sathish*  
Proprietor

Gym Front Area

Above specified Plumbing works estimate for the drainage lines in front of Gym Area, Hostel blocks.

The work is as per site discussion and design.

The unit rates are as per approved rate and its competitive.

This can be considered for work order.

W.O. may be issued  
3% discount

*shetty*  
*24/10/25*

*Shetty*  
*14/10/2025*

**SATHISH KUMAR SHETTY**  
Service Consultant  
Ground Floor, "MOTISHAM APARTMENT"  
OLD KENT ROAD  
MANGALORE-575001

IN; 29ALMPS4084P1ZZ

Ph : 2416622 (R)

Mobile : 94484 84419

E- Mail: shreeganeshellectricals1@gmail.com



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION

(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

## ESTIMATE

Ref :Est/CHSA/Benjanapadav/SG/2025-26(046)

Date:03/10/2025

To:

The Secretary  
Canara High School Association  
Kodialbail  
Mangalore

Site: At Canara Engineering College Campus Benjanapadav  
Sub : Plumbing works estimate for Hostel block drainage line.  
\* Near Security Room Area

Work Note No:

SI No.	DESCRIPTION	UNIT	QTY	RATE	Amount
1	Supplying and fixing of finolex make 4kg pressure PVC pipe (IS4985) using tee, elbow , bend , coupling and cap (suage line)				
a	2½" 4kg pressure PVC pipe	Rft	20 ✓	122	2440.00
b	4" 4kg pressure PVC pipe	Rft	110 ✓	219	24090.00
2	Supplying and fixing of finolex make 6kg pressure PVC pipe (IS4985) using bend , coupling (Excluding Tee, Elbow, Y, Door elbow, Door Tee, Door Y)				
a	6" 6kg pressure PVC pipe	Rft	120 ✓	381	45720.00
3	Supplying and fixing of pocilin 'P' trap	Nos	6 ✓	886	5316.00
4	Earth excavation and refilling charges are all extra				
a	Soft soil	Cft	93 ✓	29	2697.00
b	Hard murra	Cft	513.75 ✓	56	28770.00
5	Providing and construction of inspection chamber with 4" thick <u>Factory bricks</u> in 1:6 cement motor on base 6" thick 1:4:8 PCC bend and chamber inside grout finish and outside plastering cement motor 1:4 including earth work excavation , curing etc complete				
a	24"x24"x24"	Nos	9 ✓	4340	39060.00
b	30"x30"x24"	Nos	1 ✓	7330	7330.00
c	30"x30"x30"	Nos	1 ✓	8890	8890.00
d	30"x30"x36"	Nos	1 ✓	10435	10435.00

IN; 29ALMPS4084P1ZZ

Ph : 2416622 (R)  
Mobile : 94484 84419

E- Mail: shreeganeshelctricals1@gmail.com



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION  
(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

6	Supplying and fixing of RCC chamber cover with frame				
a	15"x15"	Nos	6 ✓	2080	12480.00
b	18"x18"	Nos	3 ✓	2301	6903.00
c	24"x24"	Nos	3 ✓	3167	9501.00
7	Supplying of PVC 6" PVC Tee	Nos	1 ✓	677	677.00
8	Supplying of PVC 6" PVC nd cap	Nos	1 ✓	150	150.00
9	Providing concrete bed laying(Approximate)	Ls	1 ✓	6000	6000.00
<b>Total</b>					<b>210459.00</b>
(Rupees Two Lakhs Ten Thousand Four Hundred Fifty Nine Only)					

Note : GST Charges Extra

For SHREE GANESH ELECTRICALS

  
Proprietor

*Verified*  
*BTellus*  
*8/10/25*

**Resident Engineer**  
**CANARA ENGINEERING COLLEGE**  
Sudhindra Nagara, Benjanapadavu  
Bantwal Taluk, U.K. - 574 219

Above specified Plumbing works estimate is as per the site discussion and design for the Hostel block drainage near Security Room Area.  
The unit rates are competitive and as per approved rates.

This can be considered for work order

W.O may be issued  
3% discount

*BTellus*  
*24/10/25*

*Om*  
*13/10/2025*

**SATHISH KUMAR SHETTY**  
Service Consultant  
Ground Floor, "MOTISHAM APARTMENT"  
OLD KENT ROAD  
MANGALORE-575001



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION  
(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

## ESTIMATE ✓

Ref :Est/CHSA/Benjanapadav/SG/2025-26(047)

Date:03/10/2025

To:

The Secretary  
Canara High School Association  
Kodialbail  
Mangalore

Site: At Canara Engineering College Campus Benjanapadav ✓  
Sub : Plumbing works estimate for Hostel block drainage line.

\* Near 4G Ladies Hostel Area

Work Note No: \_\_\_\_\_

SI No.	DESCRIPTION	UNIT	QTY	RATE	Amount
1	Supplying and fixing of finolex make 4kg pressure PVC pipe (IS4985) using tee, elbow , bend , coupling and cap (suage line)				
a	2½" 4kg pressure PVC pipe	Rft	60 ✓	122	7320.00
b	4" 4kg pressure PVC pipe	Rft	220 ✓	219	48180.00
2	Supplying and fixing of finolex make 6kg pressure PVC pipe (IS4985) using bend , coupling (Excluding Tee, Elbow, Y, Door elbow, Door Tee, Door Y)				
a	6" 6kg pressure PVC pipe	Rft	80 ✓	381	30480.00
b	8" 6kg pressure PVC pipe	Rft	230 ✓	571	131330.00
3	Supplying and fixing of pocilin 'P' trap	Nos	9 ✓	886	7974.00
4	Earth excavation and refilling charges are all extra				
a	Soft soil	Cft	315 ✓	29	9135.00
b	Hard murra	Cft	1890 ✓	56	105840.00
5	Providing and construction of inspection chamber with 4" thick Factory bricks in 1:6 cement motor on base 6" thick 1:4:8 PCC bend and chamber inside grout finish and outside plastering cement motor 1:4 including earth work excavation , curing etc complete				
a	24"x24"x24"	Nos	9 ✓	4340	39060.00
b	30"x30"x24"	Nos	1 ✓	7330	7330.00
c	30"x30"x30"	Nos	2 ✓	8890	17780.00
d	90"x66"x48"	Nos	1 ✓	46800	46800.00



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION

(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

6	<b>Man hole construction</b>				
	Man hole construction Providing and construction of <b>6" thick M20 grade cement concrete for R.C.C works</b> by using 20mm down size granite, coarse sand with necessary centering shuttering & form work of steel & ply including machine mixing, laying, compacting by using mechanical vibrators etc, complete, Providing & laying P.C.C (1:4:8) concrete using 40mm & down size machine crushed aggregates for foundation, floor beds & including machine mixing, curing etc, complete <b>(Excluding cost of steel,, binding wire &amp; fabrication charges &amp; Plastering charges)</b>				
a	5' depth (inside bottom DIA 3'6" & top 2')	Nos	1 ✓	31190	31190.00
b	4' depth (inside DIA 3'0" & top 2'0")	Nos	3 ✓	25595	76785.00
c	3' depth (inside DIA 3'0" & top 2'0")	Nos	2 ✓	20005	40010.00
7	Supplying and fixing of concrete heavy man hole round chamber cover with frame	Nos	6 ✓	5860	35160.00
8	Supplying and fixing of RCC chamber cover with frame				
a	15"x15"	Nos	9 ✓	2080	18720.00
b	18"x18"	Nos	2 ✓	2301	4602.00
c	24"x24"	Nos	2 ✓	3167	6334.00
9	Labour charge for Interlock removing & refixing (Approximate)	Ls	1 ✓	35000	35000.00
<b>Total</b>					<b>699030.00</b>
(Rupees Six Lakhs Ninety Nine Thousand & Thirty Only)					

Note : GST Charges Extra

*Verified*  
*8/10/25*

Resident Engineer  
CANARA ENGINEERING CO  
Mangara, Benjanal  
K. D.K. - 574 219

For SHREE GANESH ELECTRICALS

*Shree Ganesh*  
Proprietor

*W.O. may be issued*  
*3 of disburse*  
*24/10/25*

*P.T.O*

Above specified Plumbing works estimate for the drainage lining of Hostel block near LG Ladies hostel area is as per site discussion and design. The unit rates are as per approved rate & its competitive.

This can be considered for work order

*Sathy*  
13/10/2025

**SATHISH KUMAR SHETTY**  
Service Consultant  
Ground Floor, "MOTISHAM APARTMENT"  
OLD KENT ROAD  
MANGALORE-575001



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION

(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

## ESTIMATE

Ref :Est/CHSA/Benjanapadav/SG/2025-26(048)

Date:03/10/2025

To:

The Secretary  
Canara High School Association  
Kodialbail  
Mangalore

Site: At Canara Engineering College Campus Benjanapadav  
Sub : Plumbing works estimate for Hostel block drainage line.

\* Near Café Area

Work Note No: \_\_\_\_\_

SI No.	DESCRIPTION	UNIT	QTY	RATE	Amount
1	Supplying and fixing of finolex make 4kg pressure PVC pipe (IS4985) using tee, elbow , bend , coupling and cap (suage line)				
a	2½" 4kg pressure PVC pipe	Rft	40 ✓	122	4880.00
b	4" 4kg pressure PVC pipe	Rft	100 ✓	219	21900.00
2	Supplying and fixing of finolex make 6kg pressure PVC pipe (IS4985) using bend , coupling (Excluding Tee, Elbow, Y, Door elbow, Door Tee, Door Y)				
a	8" 6kg pressure PVC pipe	Rft	200 ✓	571	114200.00
3	Supplying and fixing of pocilin 'P' trap	Nos	2 ✓	886	1772.00
4	Earth excavation and refilling charges are all extra				
a	Soft soil	Cft	253.5 ✓	29	7351.50
b	Hard murra	Cft	1600 ✓	56	89600.00
5	Providing and construction of inspection chamber with 4" thick Factory bricks in 1:6 cement motor on base 6" thick 1:4:8 PCC bend and chamber inside grout finish and outside plastering cement motor 1:4 including earth work excavation , curing etc complete				
a	24"x24"x24"	Nos	3 ✓	4340	13020.00
b	30"x30"x30"	Nos	1 ✓	8890	8890.00
6	<b>Man hole construction</b>				

IN; 29ALMPS4084P1ZZ

Ph : 2416622 (R)

Mobile : 94484 84419

E- Mail: shreeganeshelctricals1@gmail.com



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION

(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

	Man hole construction with Earth work excavation in Soft soil, Providing & laying P.C.C. 1:4:8 using 40mm graded aggregate under foundation, including curing(40mm granite metal) 4" thick, Providing & constructing good quality Factory bricks masonry in 1:6 including curing, Providing & laying cement concrete 3" thick 1:2:4 using 20mm graded aggregates & curing Cement concrete bed inside, Providing grout finish plastering 1:4 of 12mm thick including curing Inside & Providing wall plastering in c.m 1:4 12mm thick trowel finish curing etc.complete				
a	5' depth (inside bottom DIA 3'6" & top 2')	Nos	2 ✓	42720	85440.00
b	4' depth (inside DIA 3'0" & top 2'0")	Nos	2 ✓	24215	48430.00
7	Supplying and fixing of concrete heavy man hole round chamber cover with frame	Nos	4 ✓	5860	23440.00
8	Supplying and fixing of RCC chamber cover with frame				
a	15"x15"	Nos	2 ✓	2080	4160.00
b	18"x18"	Nos	1 ✓	2301	2301.00
c	24"x24"	Nos	1 ✓	3167	3167.00
9	8" PVC pipe old Chamber end connection	Nos	1 ✓	2536	2536.00
				<b>Total</b>	<b>431087.50</b>
				<b>Rounded Off</b>	<b>431088.00</b>
(Rupees Four Lakhs Thirty One Thousand & Eighty Eight Only)					

Note : GST Charges Extra

Newford  
BTeles  
8/10/25

For SHREE GANESH ELECTRICALS

*Seethabow*  
Proprietor

Resident Engineer  
CANARA ENGINEERING COLLEGE  
Sri. Indra Nagara, Benjanapadavu  
Lakshmi Taluk, D.K. - 574 219

P.T.O

W.O. may be issued  
30% discount  
*24/10/25*

Above specified Plumbing Works estimate  
for the drainage line work of Hostel block near  
Cafe Area is as per site discussion and design.

The unit rates are as per approved rate

This can be considered for work order.

*Sathy*  
13/10/2025

**SATHISH KUMAR SHETTY**  
Service Consultant  
Ground Floor, "MOTISHAM APARTMENT"  
OLD KENT ROAD  
MANGALORE-575001

IN; 29ALMPS4084P1ZZ

Ph : 2416622 (R)

Mobile : 94484 84419

E- Mail: shreeganeshelctricals1@gmail.com



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION

(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

## ESTIMATE ✓

Ref : Est/CHSA/Benjanapadav/SG/2025-26(049)

Date: 03/10/2025

To:

The Secretary  
Canara High School Association  
Kodialbail  
Mangalore

Site: At Canara Engineering College Campus Benjanapadav  
Sub : Plumbing works estimate for Hostel block drainage line.  
\* Near 2G Ladies Hostel

Work Note No: \_\_\_\_\_

SI No.	DESCRIPTION	UNIT	QTY	RATE	Amount
1	Supplying and fixing of finolex make 4kg pressure PVC pipe (IS4985) using tee, elbow , bend , coupling and cap (suage line)				
a	2½" 4kg pressure PVC pipe	Rft	70	122	8540.00
b	4" 4kg pressure PVC pipe	Rft	60	219	13140.00
2	Supplying and fixing of pocilin 'P' trap	Nos	5	886	4430.00
3	Earth excavation and refilling charges are all extra				
a	Soft soil	Cft	150	29	4350.00
4	Providing and construction of inspection chamber with 4" thick Factory bricks in 1:6 cement motor on base 6" thick 1:4:8 PCC bend and chamber inside grout finish and outside plastering cement motor 1:4 including earth work excavation , curing etc complete				
a	24"x24"x24"	Nos	5	4340	21700.00
b	30"x30"x24"	Nos	1	7330	7330.00
c	30"x30"x30"	Nos	1	8890	8890.00
5	Supplying and fixing of RCC chamber cover with frame				
a	15"x15" <i>W.O. may be issued</i>	Nos	5	2080	10400.00
b	18"x18" <i>3% discount</i>	Nos	2	2301	4602.00
6	4" PVC pipe old Chamber end connection <i>at 1/2"</i>	Nos	2	2015	4030.00
<b>Total</b>					<b>87412.00</b>
(Rupees Eighty Seven Thousand Four Hundred Twelve Only)					

Note : GST Charges Extra

For SHREE GANESH ELECTRICALS

Resident Engineer  
CANARA ENGINEERING COLLEGE  
Sudhindra Nagara, Benjanapadavu  
Bantwal Taluk, D.K. - 5742

*Seetha*  
Proprietor

P.S.O

*Verified*  
*R. S. Telere*  
*21/10/25*

Above specified Plumbing works estimate for  
The hostel drainage line near Sh Ladies hostel  
is as per discussion at site and design

The unit rate quoted is as per  
approved rate. This can be considered  
for work order

*Sathish*  
18/10/2025

**SATHISH KUMAR SHETTY**  
Service Consultant  
Ground Floor, "MOTISHAM APARTMENT"  
OLD KENT ROAD  
MANGALORE-575001

IN; 29ALMPS4084P1ZZ



Ph : 2416622 (R)

Mobile : 94484 84419

E- Mail: shreeganeshelctricals1@gmail.com

# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION  
(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

## ESTIMATE

Ref :Est/CHSA/Benjanapadav/SG/2025-26(050)

Date:03/10/2025

To:

The Secretary  
Canara High School Association  
Kodialbail  
Mangalore

Site: At Canara Engineering College Campus Benjanapadav  
Sub : Plumbing works estimate for Hostel block drainage line.  
\* Near 3G Hostel

Work Note No:

SI No.	DESCRIPTION	UNIT	QTY	RATE	Amount
1	Supplying and fixing of finolex make 6kg pressure PVC pipe (IS4985) using bend , coupling (Excluding Tee, Elbow, Y, Door elbow, Door Tee, Door Y)				
a	6" 6kg pressure PVC pipe	Rft	220	381	83820.00
2	Supplying and fixing of pocilin 'P' trap	Nos	5	886	4430.00
3	Earth excavation and refilling charges are all extra				
a	Soft soil	Cft	866.25	29	25121.25
4	Providing and construction of inspection chamber with 4" thick <u>Factory bricks</u> in 1:6 cement motor on base 6" thick 1:4:8 PCC bend and chamber inside grout finish and outside plastering cement motor 1:4 including earth work excavation , curing etc complete				
a	24"x24"x24"	Nos	5	4340	21700.00
b	30"x30"x24"	Nos	2	7330	14660.00
c	30"x30"x30"	Nos	2	8890	17780.00
d	30"x30"x36"	Nos	1	10435	10435.00
5	<b>Man hole construction</b>				

N; 29ALMPS4084P1ZZ

Ph : 2416622 (R)

Mobile : 94484 84419

E- Mail: shreeganeshelctricals1@gmail.com



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION  
(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

	Man hole construction with Earth work excavation in Soft soil, Providing & laying P.C.C. 1:4:8 using 40mm graded aggregate under foundation, including curing(40mm granite metal) 4" thick, Providing & constructing good quality Factory bricks masonry in 1:6 including curing, Providing & laying cement concrete 3" thick 1:2:4 using 20mm graded aggregates & curing Cement concrete bed inside, Providing grout finish plastering 1:4 of 12mm thick including curing Inside & Providing wall plastering in c.m 1:4 12mm thick trowel finish curing etc.complete				
a	3' depth (inside DIA 3'0" & top 2'0")	Nos	1	18965	18965.00
6	Supplying and fixing of concrete heavy man hole round chamber cover with frame	Nos	1	5860	5860.00
7	Supplying and fixing of RCC chamber cover with frame				
a	15"x15"	Nos	5	2080	10400.00
b	18"x18"	Nos	4	2301	9204.00
c	24"x24"	Nos	1	3167	3167.00
<b>Total</b>					<b>225542.25</b>
<b>Rounded Off</b>					<b>225542.00</b>
<b>(Rupees Two Lakhs Twenty Five Thousand Five Hundred Fourty Two Only)</b>					

Note : GST Charges Extra

For SHREE GANESH ELECTRICALS

*Sudhinda*  
Proprietor

*Verified*  
*Sudhinda*  
*8/10/25*

Resident Engineer  
CANARA EN. RING COLLEGE  
Sudhinda  
Bantwal

Above specified Plumbing works estimate for the Hostel block drainage line work near 3G Hostel is on per site discussion and design. The unit rates are as per approved rate. This can be considered for work order.

W.D. may be issued  
3% discount  
*4/10/25*

*13/10/25*  
SATHISH KUMAR SHETTY  
Service Consultant  
Ground Floor, "MOTISHAM APARTMENT"  
OLD KENT ROAD  
MANGALORE-575001

IN; 29ALMPS4084P1ZZ

Ph : 2416622 (R)

Mobile : 94484 84419

E- Mail: shreeganeshelctricals1@gmail.com



# SHREE GANESH ELECTRICALS

ELECTRICAL, PLUMBING AND SANITATION  
(Govt. License No. Class I-5543)

Belview Apartments, Valencia, Mangalore - 575 001 .

## ESTIMATE

Ref :Est/CHSA/Benjanapadav/SG/2025-26(051)

Date:03/10/2025

To:

The Secretary  
Canara High School Association  
Kodialbail  
Mangalore

Site: At Canara Engineering College Campus Benjanapadav

Sub : Plumbing works estimate for Hostel block drainage line.

\* Pump & treated water Main line diversion works

Work Note No: \_\_\_\_\_

SI No.	DESCRIPTION	UNIT	QTY	RATE	Amount
1	Providing and fixing UPVC threaded pipe (ASTM D1785) 15kg pressure with finolex make UPVC fittings such as Tee, Elbow, bend, reducer, coupling , H. nipple complete pipe line system				
a	2" UPVC pipe (open)	Rft	465	180	83700.00
b	3" UPVC pipe (open)	Rft	310	354	109740.00
2	<b>Fabrication</b> & Supplying and fixing of M.S clamp with 'U' adjustable G.I clamp with supplying and fixing of anchor bolts				
a	2" U clamp	Nos	142	215	30530.00
b	3" U clamp	Nos	94	265	24910.00
3	Earth excavation and refilling charges are all extra				
a	Soft soil	Cft	290	29	8410.00
4	Labour charge for old UPVC pipe line dismantling works	Ls	1	2875	2875.00
<b>Total</b>					<b>260165.00</b>

(Rupees Two Lakhs Sixty Thousand One Hundred Sixty Five Only)

Note : GST Charges Extra

W.O. may be less  
3% discount

*Uniford*  
*Belview*  
*8/10/25*

Resident Engineer  
CANARA ENGINEERING COLLEGE  
Benjanapadavu  
Sudhina  
Bantwal  
219

*SHS*  
24/10/25

For SHREE GANESH ELECTRICALS

*Sudhina*  
Proprietor

P.T.O.

Above specified Plumbing works estimate for the  
Treated water main line diversion & pump lines for the  
Hostel block is as per design & site discussions.  
The unit rates are as per approved rate.  
This can be considered for work order

*Sathish*  
13/10/2025

**SATHISH KUMAR SHETTY**  
Service Consultant  
Ground Floor, "MOTISHAM APARTMENT"  
OLD KENT ROAD  
MANGALORE-575001